Sect Descript CPMS	ceived ect: Lewis Avenue - Kenosha F ion: 11-00999-17-RS ion: Hot-Mix Asphalt Resurfacin Pin: B-00897 ate: 3/20/2012	-				
Bidder Peter Baker & Son Company Curran Contracting Company Payne & Dolan, Inc. Engineer's Estimate	Address 1349 Rockland Road 286 Memorial Court 28327 W. Route 173	City, State, Zip Lake Bluff, IL 60044 Crystal Lake, IL 60014 Antioch, IL 60002	Bond Bid Bond Bid Bond Bid Bond	Bid Price \$3,165,980.56 \$3,396,541.66 \$3,996,923.03 \$3,585,242.45	-5.26% 11.48%	<pre>\$ Over/Under Eng. Estimate -\$419,261.89 -\$188,700.79 \$411,680.58</pre>
Design Finance Construction	IDOT(2) Bid Tab File Project File	Contract Bidder Resident Eng. Request By Mail	Α	IGB then Plan Ra Idministrative Ass Igr Capital Progra	istant	

	Return Bid Tabulation											
	Section:											
ltem No.	Pay Code	Description	Quantity	Unit	Eng Estimate Unit Price	Extnd. Price	Curran Contracting Company Unit Price	Extnd. Price	Payne & Dolan, Inc. Unit Price	Extnd. Price	Peter Baker & Son Company Unit Price	Extnd. Price
1		SUPPLEMENTAL WATERING		UNITS	\$50.00	\$1,000.00	\$1.00	\$20.00	\$1.00	\$20.00		\$20.00
2 3		EARTH EXCAVATION EXCAVATING AND GRADING EXISTING SHOULDER	149.0 263.0	CU YD UNIT	\$50.00 \$45.00	\$7,450.00 \$11,835.00	\$35.00 \$155.30	\$5,215.00 \$40,843.90	\$46.85 \$422.00	\$6,980.65 \$110,986.00		\$8,306.75 \$51,285.00
4	35100100	AGGREGATE BASE COURSE, TYPE A	52.0	TON	\$30.00	\$1,560.00	\$55.00	\$2,860.00	\$59.15	\$3,075.80	\$35.00	\$1,820.00
5	35100500	AGGREGATE BASE COURSE, TYPE A 6"	7,109.0	SQ YD	\$10.00	\$71,090.00	\$5.00	\$35,545.00	\$5.10	\$36,255.90	\$3.00	\$21,327.0
6	35100700	AGGREGATE BASE COURSE, TYPE A 8"	1,183.0	SQ YD	\$12.00	\$14,196.00	\$6.00	\$7,098.00	\$7.00	\$8,281.00	\$5.00	\$5,915.0
7 8		BITUMINOUS MATERIALS (PRIME COAT) AGGREGATE (PRIME COAT)	<mark>42,940.0</mark> 752.0	GAL TON	<mark>\$1.00</mark> \$1.00	\$42,940.00 \$752.00	<mark>\$0.01</mark> \$1.00	<mark>\$429.40</mark> \$752.00	<mark>\$0.01</mark> \$1.00	\$429.40 \$752.00		<mark>\$429.4(</mark> \$752.0(
9	40600400	MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS	15.0	TON	\$450.00	\$6,750.00	\$472.85	\$7,092.75	\$336.10	\$5,041.50	\$450.00	\$6,750.00
10	40600635	LEVELING BINDER (MACHINE METHOD), N70	1,486.0	TON	\$62.50	\$92,875.00	\$65.00	\$96,590.00	\$71.50	\$106,249.00		\$100,007.8
11 12	40602085	TEMPORARY RAMP HOT-MIX ASPHALT BINDER COURSE, IL- 19.0, N70	1,929.0 17,004.0	SQ YD TON	\$25.00 \$55.00	\$48,225.00 \$935,220.00	\$12.05 \$55.00	\$23,244.45 \$935,220.00	\$10.90 \$65.50	\$21,026.10 \$1,113,762.00		\$15,432.00 \$927,568.20
13	40603340	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N70	11,102.0	TON	\$62.50	\$693,875.00	\$79.35	\$880,943.70	\$76.50	\$849,303.00	\$70.15	\$778,805.30
14	42001300	PROTECTIVE COAT	1,610.0	SQ YD	\$2.00	\$3,220.00	\$1.50	\$2,415.00	\$1.50	\$2,415.00	\$1.00	\$1,610.00
15	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	1,844.0	SQ FT	\$6.00	\$11,064.00	\$5.25	\$9,681.00	\$5.25	\$9,681.00		\$8,021.40
16		DETECTABLE WARNINGS HOT-MIX ASPHALT SURFACE REMOVAL		SQ FT	\$30.00	\$5,820.00	\$21.00	\$4,074.00	\$21.00	\$4,074.00		\$4,850.00
17	44000157	2"	14,527.0	SQ YD	\$4.00	\$58,108.00	\$2.10	\$30,506.70	\$2.00	\$29,054.00	\$2.40	\$34,864.80
18	44000164	HOT-MIX ASPHALT SURFACE REMOVAL 3 3/4"		SQ YD	\$4.00	\$389,800.00	\$2.70	\$263,115.00	\$2.55	\$248,497.50		\$238,752.50
19	44000200	DRIVEWAY PAVEMENT REMOVAL	8,292.0	SQ YD	\$7.00	\$58,044.00	\$4.00	\$33,168.00	\$4.40	\$36,484.80	\$4.00	\$33,168.00

					Returi	n Bid Tabulati	on					
[Section:											
ltem No.	Pay Code	Description	Quantity	Unit	Eng Estimate	Fotod Drive	Curran Contracting Company	Futural Datas	Payne & Dolan, Inc.		Peter Baker & Son Company	Fature Drive
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
20		COMBINATION CURB AND GUTTER REMOVAL	1,800.0	FOOT	\$6.00	\$10,800.00	\$8.90	\$16,020.00	\$8.90	\$16,020.00	\$3.50	\$6,300.00
21	44000600	SIDEWALK REMOVAL	493.0	SQ FT	\$4.00	\$1,972.00	\$1.60	\$788.80	\$1.60	\$788.80	\$2.00	\$986.00
22	44201785	CLASS D PATCHES, TYPE I, 12 INCH	587.0	SQ YD	\$40.00	\$23,480.00	\$35.00	\$20,545.00	\$62.50	\$36,687.50	\$30.00	\$17,610.00
23	44201789	CLASS D PATCHES, TYPE II, 12 INCH		SQ YD	\$40.00	\$35,240.00	\$35.00	\$30,835.00	\$53.75	\$47,353.75	\$30.00	\$26,430.0
24	44201794	CLASS D PATCHES, TYPE III, 12 INCH	2,642.0	SQ YD	\$40.00	\$105,680.00	\$35.00	\$92,470.00	\$51.35	\$135,666.70	\$30.00	\$79,260.0
25		CLASS D PATCHES, TYPE IV, 12 INCH	1,761.0	SQ YD	\$40.00	\$70,440.00	\$35.00	\$61,635.00	\$46.65	\$82,150.65	\$30.00	\$52,830.0
26	44300100	AREA REFLECTIVE CRACK CONTROL TREATMENT	12,076.0	SQ YD	\$1.50	\$18,114.00	\$1.40	\$16,906.40	\$1.39	\$16,785.64	\$1.53	\$18,476.28
27	48100100	AGGREGATE SHOULDERS, TYPE A	4,517.0	TON	\$25.00	\$112,925.00	\$15.00	\$67,755.00	\$18.80	\$84,919.60	\$21.00	\$94,857.00
28	50105220	PIPE CULVERT REMOVAL	52.0	FOOT	\$10.00	\$520.00	\$85.00	\$4,420.00	\$85.00	\$4,420.00	\$20.00	\$1,040.00
29	56109210	WATER VALVES TO BE ADJUSTED	6.0	EACH	\$500.00	\$3,000.00	\$354.00	\$2,124.00	\$354.00	\$2,124.00	\$355.00	\$2,130.00
30	60260100	INLETS TO BE ADJUSTED	22.0	EACH	\$500.00	\$11,000.00	\$404.00	\$8,888.00	\$404.00	\$8,888.00	\$404.00	\$8,888.0
31	60603900	COMBINATION CONCRETE CURB & GUTTER, TYPE B-6.12 (ABUTTING EXISTING PAVEMENT)	400.0	FOOT	\$30.00	\$12,000.00	\$21.00	\$8,400.00	\$21.00	\$8,400.00	\$21.00	\$8,400.0
32	60605100	COMBINATION CONCRETE CURB & GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	1,400.0	FOOT	\$30.00	\$42,000.00	\$27.80	\$38,920.00	\$27.80	\$38,920.00	\$22.50	\$31,500.00
33	67100100	MOBILIZATION	1.0	L SUM	\$76,300.00	\$76,300.00	\$235,000.00	\$235,000.00	\$500,000.00	\$500,000.00	\$189,132.00	\$189,132.00
34		SHORT TERM PAVEMENT MARKING	127,871.0	FOOT	\$0.10	\$12,787.10	\$0.01	\$1,278.71	\$0.28	\$35,803.88	\$0.01	\$1,278.7 ⁻
35	70300210	TEMPORARY PAVEMENT MARKING - LETTERS AND SYMBOLS	1,322.0	SQ FT	\$0.10	\$132.20	\$0.01	\$13.22	\$1.00	\$1,322.00	\$0.01	\$13.22
36	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	57,250.0	FOOT	\$0.10	\$5,725.00	\$0.01	\$572.50	\$0.20	\$11,450.00	\$0.01	\$572.50
37	70300230	TEMPORARY PAVEMENT MARKING - LINE 5"	49,738.0	FOOT	\$0.10	\$4,973.80	\$0.01	\$497.38	\$0.22	\$10,942.36	\$0.01	\$497.38
38	70300240	TEMPORARY PAVEMENT MARKING - LINE 6"	5,667.0	FOOT	\$0.10	\$566.70	\$0.01	\$56.67	\$0.24	\$1,360.08	\$0.01	\$56.6 ⁻

LakeCounty Division of Transportation

					Retur	n Bid Tabulat	ion					
l	Section:											
ltem No.	Pay Code	Description	Quantity	Unit	Eng Estimate		Curran Contracting Company		Payne & Dolan, Inc.		Peter Baker & Son Company	
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
39	70300260	TEMPORARY PAVEMENT MARKING - LINE 12"	4,991.0	FOOT	\$0.50	\$2,495.50	\$0.01	\$49.91	\$0.60	\$2,994.60	\$0.01	\$49.91
40	70300280	TEMPORARY PAVEMENT MARKING - LINE 24"	602.0	FOOT	\$1.00	\$602.00	\$0.01	\$6.02	\$1.00	\$602.00	\$0.01	\$6.02
41	70300520	PAVEMENT MARKING TAPE, TYPE III 4"	21,312.0	FOOT	\$0.50	\$10,656.00	\$1.00	\$21,312.00	\$0.60	\$12,787.20	\$0.01	\$213.12
42	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	1,202.0	SQ FT	\$5.00	\$6,010.00	\$4.00	\$4,808.00	\$4.00	\$4,808.00	\$3.50	\$4,207.00
43	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	52,046.0	FOOT	\$0.60	\$31,227.60	\$0.50	\$26,023.00	\$0.52	\$27,063.92	\$0.50	\$26,023.00
44	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	45,216.0	FOOT	\$0.75	\$33,912.00	\$0.65	\$29,390.40	\$0.55	\$24,868.80	\$0.55	\$24,868.80
45	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	5,099.0	FOOT	\$1.00	\$5,099.00	\$0.75	\$3,824.25	\$1.00	\$5,099.00	\$0.70	\$3,569.30
46	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	4,537.0	FOOT	\$2.00	\$9,074.00	\$1.60	\$7,259.20	\$2.00	\$9,074.00	\$1.40	\$6,351.80
47	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	547.0	FOOT	\$4.00	\$2,188.00	\$3.75	\$2,051.25	\$4.00	\$2,188.00	\$4.00	\$2,188.00
48 49		PAINT PAVEMENT MARKING - LINE 4" PAINT PAVEMENT MARKING - LINE 5"	18,082.0 <u>39,088.0</u>	FOOT FOOT	\$0.50 \$0.60	\$9,041.00 \$23,452.80	\$0.20 \$0.20	\$3,616.40 \$7,817.60	\$0.30 \$0.35	\$5,424.60 \$13,680.80	\$0.05 \$0.05	\$904.10 <mark>\$1,954.40</mark>
50	78100100	RAISED REFLECTIVE PAVEMENT MARKER	363.0	EACH	\$30.00	\$10,890.00	\$21.00	\$7,623.00	\$32.00	\$11,616.00	\$23.00	\$8,349.00
51	78300200	RAISED REFLECTIVE PAVEMENT MARKER REMOVAL	363.0	EACH	\$8.00	\$2,904.00	\$4.00	\$1,452.00	\$8.70	\$3,158.10	\$5.00	\$1,815.00
52	81028210	UNDERGROUND CONDUIT, GALVANIZED STEEL, 2 1/2" DIA.	15.0	FOOT	\$20.00	\$300.00	\$20.20	\$303.00	\$35.00	\$525.00	\$20.20	\$303.00
53	85000200	MAINTENANCE OF EXISTING TRAFFIC SIGNAL	1.0	EACH	\$1,000.00	\$1,000.00	\$1,520.00	\$1,520.00	\$2,500.00	\$2,500.00	\$1,520.00	\$1,520.00
54	87301215	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 2C	381.0	FOOT	\$1.00	\$381.00	\$1.10	\$419.10	\$3.00	\$1,143.00	\$1.10	\$419.10

LakeCounty Division of Transportation

	Return Bid Tabulation											
C	Section:											
ltem No.	Pay Code	Description	Quantity	Unit	Eng Estimate Unit Price	Extnd. Price	Curran Contracting Company Unit Price	Extnd. Price	Payne & Dolan, Inc. Unit Price	Extnd. Price	Peter Baker & Son Company Unit Price	Extnd. Price
55		ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 3C	367.0	FOOT	\$1.25	\$458.75	\$1.30	\$477.10	\$3.00	\$1,101.00	\$1.30	\$477.10
56		TRAFFIC SIGNAL POST, 10 FT.	1.0	EACH	\$1,500.00	\$1,500.00	\$739.00	\$739.00	\$1,400.00	\$1,400.00	\$739.00	\$739.00
57		CONCRETE FOUNDATION, TYPE A	4.0	FOOT	\$200.00	\$800.00	\$247.50	\$990.00	\$200.00	\$800.00	\$247.50	
58		DRILL EXISTING HANDHOLE	1.0	EACH	\$250.00	\$250.00	\$228.00	\$228.00	\$145.00	\$145.00	\$228.00	\$228.00
59	88030110	PEDESTRIAN SIGNAL HEAD, LED, 1-FACE, BRACKET MOUNTED WITH COUNTDOWN TIMER	4.0	Ē	\$1,000.00	\$4,000.00	\$871.00	\$3,484.00	\$1,200.00	\$4,800.00	\$871.00	
60		DETECTOR LOOP REPLACEMENT	2,371.0	FOOT	\$15.00	\$35,565.00	\$15.40	\$36,513.40	\$13.00	\$30,823.00	\$15.40	\$36,513.40
61		PEDESTRIAN PUSH-BUTTON	4.0	EACH	\$300.00	\$1,200.00	\$348.00	\$1,392.00	\$220.00	\$880.00	\$348.00	\$1,392.00
62	89502210	MODIFY EXISTING CONTROLLER CABINET	1.0	EACH	\$350.00	\$350.00	\$2,485.00	\$2,485.00	\$2,300.00	\$2,300.00	\$2,485.00	• •
63		REMOVE EXISTING HANDHOLE	4.0	EACH	\$1,400.00	\$5,600.00	\$380.00	\$1,520.00	\$1,100.00	\$4,400.00	\$380.00	\$1,520.00
64	LC400100	BUTT JOINT FOR ENTRANCE RESURFACING	4,802.0	FOOT	\$8.00	\$38,416.00	\$9.20	\$44,178.40	\$0.60	\$2,881.20	\$4.00	. ,
65		INSTALL SURVEY MONUMENTS	18.0	EACH	\$800.00	\$14,400.00	\$504.25	\$9,076.50	\$243.00	\$4,374.00	\$375.00	\$6,750.00
66	X4401198	HOT-MIX ASPHALT SURFACE REMOVAL, VARIABLE DEPTH	5,423.0	SQ YD	\$10.00	\$54,230.00	\$2.85	\$15,455.55	\$4.40	\$23,861.20	\$8.20	\$44,468.60
67	X6026800	INLETS TO BE RECONSTRUCTED (SPECIAL)	70.0	EACH	\$500.00	\$35,000.00	\$500.00	\$35,000.00	\$1,005.00	\$70,350.00	\$1,005.00	\$70,350.00
68	X6030205	FRAMES AND GRATES TO BE ADJUSTED (SPECIAL)	21.0	EACH	\$800.00	\$16,800.00	\$650.00	\$13,650.00	\$765.00	\$16,065.00	\$765.00	\$16,065.00
69	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	5.0	CAL MO	\$2,000.00	\$10,000.00	\$1,000.00	\$5,000.00	\$1,500.00	\$7,500.00	\$1,500.00	\$7,500.00
70	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$133,600.00	\$133,600.00	\$75,000.00	\$75,000.00	\$20,000.00	\$20,000.00	\$39,888.00	\$39,888.00
71	XX006343	SEEDING (COMPLETE)	6,916.0	SQ YD	\$10.00	\$69,160.00	\$5.50	\$38,038.00	\$5.50	\$38,038.00	\$5.50	\$38,038.00
72	XX206400	MAILBOX POST	66.0	EACH	\$200.00	\$13,200.00	\$150.00	\$9,900.00	\$50.00	\$3,300.00	\$200.00	\$13,200.00
		Bid Total				\$3,585,242.45		\$3,396,541.66		\$3,996,923.03		\$3,165,980.56

貒	LakeCo Division of	Dunty Transportation							
	Section:		Return I	Bid Det	ails				
ltem No.	Pay Code	Description	Quantity	Unit	Eng Estimate Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
1		SUPPLEMENTAL WATERING	20.0	UNITS	\$50.00	\$1,000.00	\$1.00	\$1.00	\$1.00
2			149.0	CU YD	\$50.00	\$7,450.00	\$35.00	\$55.75	\$45.87
3	20200600	EXCAVATING AND GRADING EXISTING SHOULDER	263.0	UNIT	\$45.00	\$11,835.00	\$155.30	\$422.00	\$257.43
4	35100100	AGGREGATE BASE COURSE, TYPE A	52.0	TON	\$30.00	\$1,560.00	\$35.00	\$59.15	\$49.72
5	35100500	AGGREGATE BASE COURSE, TYPE A 6"	7,109.0	SQ YD	\$10.00	\$71,090.00	\$3.00	\$5.10	\$4.37
6	35100700	AGGREGATE BASE COURSE, TYPE A 8"	1,183.0	SQ YD	\$12.00	\$14,196.00	\$5.00	\$7.00	\$6.00
7	40600100	BITUMINOUS MATERIALS (PRIME COAT)	42,940.0	GAL	\$1.00	\$42,940.00	\$0.01	\$0.01	\$0.01
8		AGGREGATE (PRIME COAT)	752.0	TON	\$1.00	\$752.00	\$1.00	\$1.00	\$1.00
9		MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS	15.0	TON	\$450.00	\$6,750.00	\$336.10	\$472.85	\$419.65
10		LEVELING BINDER (MACHINE METHOD), N70	1,486.0	TON	\$62.50	\$92,875.00	\$65.00	\$71.50	\$67.93
11		TEMPORARY RAMP	1,929.0	SQ YD	\$25.00	\$48,225.00	\$8.00	\$12.05	\$10.32
12		HOT-MIX ASPHALT BINDER COURSE, IL- 19.0, N70	17,004.0	TON	\$55.00	\$935,220.00	\$54.55	\$65.50	\$58.35
13		HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N70	11,102.0	TON	\$62.50	\$693,875.00	\$70.15	\$79.35	\$75.33
14		PROTECTIVE COAT	1,610.0	SQ YD	\$2.00	\$3,220.00	\$1.00	\$1.50	\$1.33
15		PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	1,844.0	SQ FT	\$6.00	\$11,064.00	\$4.35	\$5.25	\$4.95
16		DETECTABLE WARNINGS	194.0	SQ FT	\$30.00	\$5,820.00	\$21.00	\$25.00	\$22.33
17	44000157	HOT-MIX ASPHALT SURFACE REMOVAL 2"	14,527.0	SQ YD	\$4.00	\$58,108.00	\$2.00	\$2.40	\$2.17

貒	LakeCo Division of	Dunty Transportation							
ſ	Section:		Return I	Bid Det	ails				
ltem					Eng Estimate		Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Price	Price	Price
18	44000164	HOT-MIX ASPHALT SURFACE REMOVAL 3 3/4"	97,450.0	SQ YD	\$4.00	\$389,800.00	\$2.45	\$2.70	\$2.57
19	44000200	DRIVEWAY PAVEMENT REMOVAL	8,292.0	SQ YD	\$7.00	\$58,044.00	\$4.00	\$4.40	\$4.13
20	44000500	COMBINATION CURB AND GUTTER REMOVAL	1,800.0	FOOT	\$6.00	\$10,800.00	\$3.50	\$8.90	\$7.10
21		SIDEWALK REMOVAL	493.0	SQ FT	\$4.00	\$1,972.00	\$1.60	\$2.00	\$1.73
22		CLASS D PATCHES, TYPE I, 12 INCH	587.0	SQ YD	\$40.00	\$23,480.00	\$30.00	\$62.50	\$42.50
23		CLASS D PATCHES, TYPE II, 12 INCH	881.0	SQ YD	\$40.00	\$35,240.00	\$30.00	\$53.75	\$39.58
24		CLASS D PATCHES, TYPE III, 12 INCH	2,642.0		\$40.00	\$105,680.00	\$30.00	\$51.35	\$38.78
25		CLASS D PATCHES, TYPE IV, 12 INCH	1,761.0	SQ YD	\$40.00	\$70,440.00	\$30.00	\$46.65	\$37.22
26	44300100	AREA REFLECTIVE CRACK CONTROL TREATMENT	12,076.0		\$1.50	\$18,114.00	\$1.39	\$1.53	\$1.44
27		AGGREGATE SHOULDERS, TYPE A	4,517.0	TON	\$25.00	\$112,925.00	\$15.00	\$21.00	\$18.27
28		PIPE CULVERT REMOVAL	52.0	FOOT	\$10.00	\$520.00	\$20.00	\$85.00	\$63.33
29		WATER VALVES TO BE ADJUSTED	6.0	EACH	\$500.00	\$3,000.00	\$354.00	\$355.00	\$354.33
30	60260100	INLETS TO BE ADJUSTED	22.0	EACH	\$500.00	\$11,000.00	\$404.00	\$404.00	\$404.00
31	60603900	COMBINATION CONCRETE CURB & GUTTER, TYPE B-6.12 (ABUTTING EXISTING PAVEMENT)	400.0	FOOT	\$30.00	\$12,000.00	\$21.00	\$21.00	\$21.00
32		COMBINATION CONCRETE CURB & GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	1,400.0	FOOT	\$30.00	\$42,000.00	\$22.50	\$27.80	\$26.03
33	67100100	MOBILIZATION	1.0	L SUM	\$76,300.00	\$76,300.00	\$189,132.00	\$500,000.00	\$308,044.00
34	70300100	SHORT TERM PAVEMENT MARKING	127,871.0	FOOT	\$0.10	\$12,787.10	\$0.01	\$0.28	\$0.10
35	70300210	TEMPORARY PAVEMENT MARKING - LETTERS AND SYMBOLS	1,322.0	SQ FT	\$0.10	\$132.20	\$0.01	\$1.00	\$0.34

貒	LakeCo Division of	Dunty Transportation							
C	Section:		Return	Bid Det	ails				
ltem No.	Pay Code	Description	Quantity	Unit	Eng Estimate Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
36	70300220	TEMPORARY PAVEMENT MARKING - LINE	57,250.0	FOOT	\$0.10	\$5,725.00	\$0.01	\$0.20	\$0.07
37	70300220	4" TEMPORARY PAVEMENT MARKING - LINE 5"	49,738.0	FOOT	\$0.10	\$4,973.80	\$0.01	\$0.22	\$0.08
38	70300240	TEMPORARY PAVEMENT MARKING - LINE	5,667.0	FOOT	\$0.10	\$566.70	\$0.01	\$0.24	\$0.09
39	70300260	TEMPORARY PAVEMENT MARKING - LINE 12"	4,991.0	FOOT	\$0.50	\$2,495.50	\$0.01	\$0.60	\$0.21
40	70300280	TEMPORARY PAVEMENT MARKING - LINE 24"	602.0	FOOT	\$1.00	\$602.00	\$0.01	\$1.00	\$0.34
41		PAVEMENT MARKING TAPE, TYPE III 4"	21,312.0	FOOT	\$0.50	\$10,656.00	\$0.01	\$1.00	\$0.54
42	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	1,202.0	SQ FT	\$5.00	\$6,010.00	\$3.50	\$4.00	\$3.83
43	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	52,046.0	FOOT	\$0.60	\$31,227.60	\$0.50	\$0.52	\$0.51
44	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	45,216.0	FOOT	\$0.75	\$33,912.00	\$0.55	\$0.65	\$0.58
45	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	5,099.0	FOOT	\$1.00	\$5,099.00	\$0.70	\$1.00	\$0.82
46	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	4,537.0	FOOT	\$2.00	\$9,074.00	\$1.40	\$2.00	\$1.67
47	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	547.0	FOOT	\$4.00	\$2,188.00	\$3.75	\$4.00	\$3.92
48	78001110	PAINT PAVEMENT MARKING - LINE 4"	18,082.0	FOOT	\$0.50	\$9,041.00	\$0.05	\$0.30	\$0.18
49	78001120	PAINT PAVEMENT MARKING - LINE 5"	39,088.0	FOOT	\$0.60	\$23,452.80	\$0.05	\$0.35	\$0.20

業	LakeCo	Dunty Transportation							
C	Section:		Return I	Bid Det	ails				
					Eng Estimate				
ltem No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
50	78100100	RAISED REFLECTIVE PAVEMENT MARKER	363.0	EACH	\$30.00	\$10,890.00	\$21.00	\$32.00	\$25.33
51		RAISED REFLECTIVE PAVEMENT MARKER REMOVAL	363.0	EACH	\$8.00	\$2,904.00	\$4.00	\$8.70	\$5.90
52		UNDERGROUND CONDUIT, GALVANIZED STEEL, 2 1/2" DIA.	15.0	FOOT	\$20.00	\$300.00	\$20.20	\$35.00	\$25.13
53	85000200	MAINTENANCE OF EXISTING TRAFFIC SIGNAL	1.0	EACH	\$1,000.00	\$1,000.00	\$1,520.00	\$2,500.00	\$1,846.67
54		ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 2C	381.0	FOOT	\$1.00	\$381.00	\$1.10	\$3.00	\$1.73
55		ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 3C	367.0	FOOT	\$1.25	\$458.75	\$1.30	\$3.00	\$1.87
56	87500600	TRAFFIC SIGNAL POST, 10 FT.	1.0	EACH	\$1,500.00	\$1,500.00	\$739.00	\$1,400.00	\$959.33
57		CONCRETE FOUNDATION, TYPE A	4.0	FOOT	\$200.00	\$800.00	\$200.00	\$247.50	\$231.67
58		DRILL EXISTING HANDHOLE	1.0	EACH	\$250.00	\$250.00	\$145.00	\$228.00	\$200.33
59	88030110	PEDESTRIAN SIGNAL HEAD, LED, 1-FACE, BRACKET MOUNTED WITH COUNTDOWN TIMER	4.0	EACH	\$1,000.00	\$4,000.00	\$871.00	\$1,200.00	\$980.67
60		DETECTOR LOOP REPLACEMENT	2,371.0	FOOT	\$15.00	\$35,565.00	\$13.00	\$15.40	\$14.60
61		PEDESTRIAN PUSH-BUTTON	4.0	EACH	\$300.00	\$1,200.00	\$220.00	\$348.00	\$305.33
62	80502210	MODIFY EXISTING CONTROLLER CABINET	1.0	EACH	\$350.00	\$350.00	\$2,300.00	\$2,485.00	\$2,423.33
63	89502380	REMOVE EXISTING HANDHOLE	4.0	EACH	\$1,400.00	\$5,600.00	\$380.00	\$1,100.00	\$620.00
64	LC400100	BUTT JOINT FOR ENTRANCE RESURFACING	4,802.0	FOOT	\$8.00	\$38,416.00	\$0.60	\$9.20	\$4.60
65	LC600200	INSTALL SURVEY MONUMENTS	18.0	EACH	\$800.00	\$14,400.00	\$243.00	\$504.25	\$374.08

彩	LakeCo Division of	Dunty Transportation										
ſ	Return Bid Details Project: Lewis Avenue - Kenosha Road Resurfacing Section: 11-00999-17-RS Description: Hot-Mix Asphalt Resurfacing CPMS Pin: B-00897 Let Date: 3/20/2012											
Item	Day Carda	Description	Quantitu	Um i4	Eng Estimate	Evend Drive	Min. Bid	Max. Bid	Avg. Bid			
No.	Pay Code	Description HOT-MIX ASPHALT SURFACE REMOVAL,	Quantity	Unit	Unit Price	Extnd. Price	Price	Price	Price			
66	X4401198	VARIABLE DEPTH	5,423.0	SQ YD	\$10.00	\$54,230.00	\$2.85	\$8.20	\$5.15			
67	X6026800	INLETS TO BE RECONSTRUCTED (SPECIAL)	70.0	EACH	\$500.00	\$35,000.00	\$500.00	\$1,005.00	\$836.67			
68	X6030205	FRAMES AND GRATES TO BE ADJUSTED (SPECIAL)	21.0	EACH	\$800.00	\$16,800.00	\$650.00	\$765.00	\$726.67			
69	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	5.0	CAL MO	\$2,000.00	\$10,000.00	\$1,000.00	\$1,500.00	\$1,333.33			
70	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$133,600.00	\$133,600.00	\$20,000.00	\$75,000.00	\$44,962.67			
71	XX006343	SEEDING (COMPLETE)	6,916.0	SQ YD	\$10.00	\$69,160.00	\$5.50	\$5.50	\$5.50			
72	XX206400	MAILBOX POST	66.0	EACH	\$200.00	\$13,200.00	\$50.00	\$200.00	\$133.33			
		Bid Total				\$3,585,242.45						